
PARTS LIST
GALAXY 1500 BURNISHER



HANDLE BRACE ASSEMBLY

2

ITEM PART NO. DESCRIPTION QTY
101 0393801 1
102 0393831 1
103 0393141 1
104 0393131 1
105 0393961 1
106 0393121 1
107 0393321 1
108 0393971 1
109 0393981 1
110 0393951 2
111 0393041 1
112 0393031 1
113 0393961 1
114 0393021 1
115 0393151 2

3/8-16 HEX NUT W/ NYLOK INSERT
3/8 SAE FLAT WASHER
FLATTENED CLAMP BOLT
SLOTTED WASHER
M8 X 1.25 HEX NUT W/ NYLOK INSERT
CLAMP LEVER
HANDLE GRIP
M8 X 1.25 X 25mm HEX BOLT
M8 X 1.25 X 65mm HEX BOLT
M8 FLAT WASHER
HANDLE CLAMP - LEFT
HANDLE CLAMP - RIGHT
M8 X 1.25 HEX NUT W/ NYLOK INSERT
HANDLE BRACE
NYLINER



HANDLE BRACE ASSEMBLY

3

107

109

110

111

112

113

114

108

106 105

104

103

102

101

115

110



HANDLE ASSEMBLY

4



HANDLE ASSEMBLY

5

204

201
202

203 252

209

206

207

208

205

210
211

212

213

214

215

216

217

218

219

220

221
222

223

236

227

230

229

231

232 233

234

235

237

238

239

250

251 249

241
242

240

243

248

246
247

244
245

224
225

226



BASE/MOTOR ASSEMBLY

6



BASE/MOTOR ASSEMBLY

7

302

303

304

305

306

307
308

309

310
311

312

312
313

326

314

325

315

316
317

318

319

320

322

323

324

322

328
329

330

327

331

332

334

335

336

339
340

341

342

343

321

333

338
337

344
345
346

347



MOTOR ASSEMBLY

8



115/230 VOLT MOTOR

401

402

404

403

408

422 421

420

417
416

418

419

405

407

415

414

413

411

410

412

409

MOTOR ASSEMBLY

9

406



0393451

WHITE

WHITE

120 VOLT
0393461

240 VOLT
0393471

WHITE

BLACK BLACK

BLACK - 0393091BLACK

BLACK

G
R

E
E

N
/Y

E
LL

O
W

B
R

O
W

N
B

LU
E

WIRE NUT 0393561

G
R

E
E

N

B
LA

C
K

W
H

IT
E

5390211
SWITCH

GREEN GREEN - 0393081

GREEN GREEN

5390211
SWITCH

TERMINAL
BLOCK
0393071

HANDLE
CORD

GREEN

WIRING DIAGRAM

10



ACCESSORIES

11

PART NO. PART DESCRIPTION
NOTE: ALL PADS COME 5 PADS PER CASE
7992051 20" LITE BLUE POLISH/BURNISH PAD - FOR SOFT FINISH
7992061 20" LITE HAIR BURNISH PAD - FOR ALL FINISHES
7992081 20" ULTRA HAIR HARD FINISH PAD - FOR HARD FINISH
7992091 20" ULTIMATE HAIR PAD - HARD FINISH AGGRESSIVE BURNISHING
7992021 20" GREEN SCRUB PAD - HEAVY FINISH REMOVAL
7992001 20" BLACK STRIP PAD - REMOVES FINISH COMPLETELY
7992011 20" BROWN STRIP PAD - REMOVES FINISH COMPLETELY



R

NSS  Enterprises, Inc.R

3115 Frenchmens Road, Toledo, Ohio 43607
PHONE (419) 531-2121 FAX (419) 531-3761
NSS ® Enterprises, Inc. European Distribution Centre
Unit II, Pinfold Trading Estate * 55 Nottingham Road
STAPLEFORD, NOTTINGHAM NG9 8AD ENGLAND U.K.
PHONE: (44) 0115 939 1568 * FAX: (44) 0115 949 0615

NOTES

12

Printed  in China9090315 GALAXY 1500  HIGH SPEED BURNISHER  Rev Orig  02-08  Rev J 04-09


